1—1. BH (BBl EER) &

IJFTJ ]% Tl
T " & *E
#& 5t 29,342 890,365
INR 96 5,130
(FFR) 42 3,150
(RAY) 18 900
) 36 1,080
(/NEY) 0 0
rovH 15,198 743,200
(FFR) 6,091 426,370
(RAY) 4,790 239,500
(i) 1,708 51,240
(/N) 2,609 26,090
EHE 13,648 110,530
(23 - /)N ) 8,458 84,580
(42 P i) 5,190 25,950
ZDfth 400 31,505
(#EhT97) 119 595
b7y e b—7-) 281 30,910
RIGER [T 10,336 339,360
NR 12 715
(FFR) 7 525
(KA 2 100
(38) 3 90
(/NEY) 0 0
rSvH 6,108 291,860
(FFR) 2,430 170,100
(KA 1,939 96,950
) 371 11,130
(/NEY) 1,368 13,680
ERE 4,069 34,605
(3 - /[N 2,852 28,520
(42 DU i) 1,217 6,085
ZDih 147 12,180
(#EbTv7) 38 190
(b7 M—=7-) 109 11,990
RIGE /A 8,175 222,880
INR 59 3,120
(FR) 26 1,950
(RAY) 9 450
) 24 720
(/NE) 0 0
rovH 2,959 169,590
(FFR) 1,832 128,240
(RAY) 502 25,100
(i) 500 15,000
(/]N) 125 1,250
EHHE 5,013 39,475
(23 - /)N ) 2,882 28,820
(42 P i) 2,131 10,655
Z Dt 144 10,695
(#EhT97) 49 245
(b9« b—7-) 95 10,450
RIGER =L 2,097 44,135
AV 3 0 0
(FFR) 0 0
(KA 0 0
(38) 0 0
(/NEY) 0 0
rSvH 763 34,430
(FFR) 182 12,740
(REY) 281 14,050
) 232 6,960
(/NEY) 68 680
ERE 1,334 9,705
(3 - /[ VAY) 607 6,070
(42 DU i) 727 3,635
ZFDih 0 0
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T\ N " B =
TR " A ko K
(Eh797) 0 0
(b9 - b—7-) 0 0
RIGER e B 1,163 32,890
NR 5 195
(RFR) 1 75
(KA 0 0
) 4 120
(/NEY) 0 0
rSvH 605 28,590
(RFR) 86 6,020
(REY) 378 18,900
) 113 3,390
(/NEY) 28 280
ERE 542 3,840
(3 - /[ VAY) 226 2,260
(2 DU i) 316 1,580
ZDith 11 265
(#EbTv7) 9 45
(b7 M—=7-) 2 220
RIFR Fil ) 7571 251,100
INR 20 1,100
(FR) 8 600
(RAY) 7 350
(1) 5 150
(/NEY) 0 0
rovH 4,763 218,730
(FFR) 1,561 109,270
(RAY) 1,690 84,500
(i) 492 14,760
(/N) 1,020 10,200
E£HE 2,690 22,905
(=3 - /)N ) 1,891 18,910
(42 P i) 799 3,995
ZDfth 98 8,365
(#E8T97) 23 115
b7y s b—7-) 75 8,250
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1—2. BA (BH 7=HFEH) x

[ R % A"
— R = = 5 % %

& 5t 27,877 907,265
INR 75 4,005
(FFKR) 35 2,625
(KI) 9 450
(i) 31 930
(/NEY) 0 0
koo 15,626 780,940
GPN, 6,729 471,030
(KHY) 4,930 246,500
(3e) 1,187 35,610
(/NEY) 2,780 27,800
ER=H 11,813 97,615
(3 - /N 7,710 77,100
(2% U i) 4,103 20,515
ZF Dt 363 24,705
(#&b7v7) 145 725
by M—=7-) 218 23,980

RIgE =1 9,987 332,505
INR 17 865
(FK) 7 525
(KREY) 2 100
) 8 240
(/NEY) 0 0
cSvy 6,167 291,970
(R ) 2,372 166,040
(KRAY) 1,996 99,800
W) 407 12,210
(/NEY) 1,392 13,920
RH®E 3,702 32,235
(5 - /] VL) 2,745 27,450
(2 L] i) 957 4,785
ZDfth 101 7,435
(#EhTv7) 35 175
(b7 M—=7-) 66 7,260

RIFE B/ E 6,455 238,145
INR 18 780
(FFKR) 4 300
(KI) 3 150
(i) 11 330
(/NEY) 0 0
koo 3,449 208,310
GPN, 2,510 175,700
(KA 436 21,800
(i) 289 8,670
(/NEY) 214 2,140
ER=H 2,869 22,475
(38 - /)N 1,626 16,260
(2 [0 i) 1,243 6,215
Z 0Dt 119 6,580
(#&b7v7) 62 310
(b7 M—=7-) 57 6,270

RIBE 2L 1,342 31,945
INR 0 0
(FK) 0 0
(KEY) 0 0
) 0 0
(/NEY) 0 0
cSvy 604 26,380
(R ) 156 10,920
(KIY) 202 10,100
) 145 4,350
(/NE) 101 1,010
RH#E 738 5,565
(5 - /] VAL 375 3,750
(2 U] i) 363 1,815
ZFDih 0 0
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£ Pk N % B R
TR " A e
(N7 97) 0 0
(bv7 < b—7-) 0 0
RIGER HEEE 1,465 67,490
INR 3 135
GPN, 1 75
(KA 0 0
A SH) 2 60
(/NEY) 0 0
rSwv9 1,107 64,390
(FK) 601 42,070
(KA 375 18,750
) 113 3,390
(/NEY) 18 180
RHA#E 351 2,735
(38 - /M) 196 1,960
(42 DU i) 155 775
FDih 4 230
(#%hT797) 2 10
(M7« b—5-) 2 220
RIBE i 8,628 237,180
INR 37 2,225
(FFR) 23 1,725
(KHY) 4 200
(EiE) 10 300
(/NE) 0 0
rovo 4,299 189,890
(FFKR) 1,090 76,300
(K 1,921 96,050
) 233 6,990
(/NEY) 1,055 10,550
EH=E 4,153 34,605
(23 - /)N 2,768 27,680
(2 I i) 1,385 6,925
ZDfth 139 10,460
(#EhTv7) 46 230
(by 7+ b—7—) 93 10,230
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